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write down your procedures and answers on the answer sheet)

1.

N

Balance equation
MnOs + HyCy0s+ H = Mn®+ COxg)+ H0
Balance equation
Py, + OH -+ H,O = PH; + H,POy
Calculate the molar solubility of Ba(I03); (487g/mol) in a solution that is 0.02 M in
Ba(NOs),. [ Ksp of Ba(I03); = 1.57 x 107]
Calculate the solubility of Ba(IOs); in a solution prepared by mixing 200 ml of 0.100 M
Ba(NOQ;); with 100 ml of 1.00 M NalOs (11127, Ba:137.3, Na: 23, O: 16; Ksp of Ba(I103); =
1.57 x 10%).
What Cr042" conc. is required to initiate precipitation of Ag,CrO4 from a solution that is
3.41x10° M in Ag*? (AgCrO, Ksp=1.2x10"% Ag:108, Cr:52, 0:16)
Calculate the solubility of Fe(OH); in water. (Hint: you can proceed by using the systematic
approach), [ Fe(OH); Ksp=2 x107]
Calculate 25 °C the pH of the solution that contains 8.00% (w/w) NaOH and has a density of
1.5g/ml
What is the pH of a solution that is 0.400 M in formic acid and 1.00 M in potassium formate?
(Ka of HCOOH=1.80 x 10

Please draw the schematic diagram of GC/MS spectrometer and also give the description of
the instrument.
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10.

OCH,(CF2)gCF2H

. (atomic wt.: C:12, H:1, O: 16, F:19) One compound shown in above figure was injected to
GC/MS. The mass diagram shows that m/z= 50, 51, 77, 100, 105 and 636. Please give their

respective fragments?
[e.g.: when m/z=50: fragments: CF;"]



